
SUPERKIDZ CHAMPIONSHIP  

Mental Maths  

Max. Time: 15 Mins.                    Class 4-5 Max. Marks: 75 

Important Instructions               

1. This Question Paper has 75 questions and each question carries 1 mark. 
2. Answer the questions in answer sheet provided separately. 

 
Name  ……………………………………………………………………….                             Roll No. …………….. 
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1. Multiply 5 x 7 x 7 = 
a. 345 c. 185 
b. 245 d. 280 

 
2. Multiply 6 x 9 x 7 = 

a. 275 c. 389 
b. 446 d. 378 

 
3. Multiply 12 x 4 x 6 = 

a. 288 c. 320 
b. 168 d. 513 
 

4. Multiply 21 x 3 x 7 = 
a. 315 c. 531 
b. 441 d. 252 

 
5. Multiply 18 x 6 x 6 = 

a. 528 c. 648 
b. 346 d. 328 

 
6. What is 66 x 8 - 57 = 

a. 417 c. 471 
b. 526 d. 72 
 

7. What is 57 x 7 – 33 = 
a. 266 c. 168 
b. 366 d. None of these 
 

8. What is the answer for 91 x 9 + 63 = 
a. 782 c. 882 
b. 1386 d. None of these 

 
9. What is the answer for 74 x 7 – 24 = 

a. 350 c. 494 
b. 449 d. 1258 

 
10. What is the answer for 85 x 2 + 47 = 

a. 264 c. 179 
b. 217 d. None of these 

 
11. Subtract 67 from 716  

a. 496 c. 649 
b. 694 d. None of these 

 

12. Subtract 423 from 658 
a. 235 c. 253 
b. 335 d. None of these 

 
13. Add 72 to 41 and subtract 33 from it. 

a. 80 c. 8  
b. 88 d. 98 

 
14. Add 407 to 174 and subtract 273 from it? 

a. 108 c. 208 
b. 308 d. 408 

 
15. What is 9 – 7 + 2 + 8 + 3 – 7 – 2 = 

a. 5 c. 6 
b. 16 d. 26 

 
16. What is 83 – 9 + 5 + 3 – 7 = 

c. 57 c. 75 
d. 55 d. None of these 
 

17. What is 90 – 70 + 52 + 15 = 
a. 77 c. 87 
b. 88 d. 78 

 
18. What is 84 – 52 + 36 – 19 = 

a. 50 c. 52 
b. 49 d. 47 

 
19. What is 36 + 93 – 74 + 85 = 

a. 114 c. 410 
b. 140 d. 240 
 

20. What is 67 – 4 – 20 + 53 = 
a. 69 c. 76 
b. 96 d. None of these 

 
21. What is 0.7 + 0.8 = 

a. 0.15 c. 1.5 
b. 15 d. None of these 

 
22. Which of these fractions is equivalent to half 

c. 1/3 c. 2/5 
d. 3/6 d. 4/9 
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23. Write Eighteen Thousand Two Hundred Seven 
a. 180207 c. 1800207 
b. 18207 d. None of these 

 
24. What is 1/3 of 21 

a. 7 c. 63 
b. 21 d. None of these 

 
25. Which of these numbers is divisible by 5 

a. 32 c. 51 
b. 45 d. 18 

 
26. What is 63 = 45 + _____ 

a. 28 c. 15 
b. 18 d. None of these 

 
27. What is 2/3 of 18 

a. 27 c. 12 
b. 9 d. 18 

 
28. What is 0.2 + 0.8 – 1.0 = 

a. 0.8 c. 0.9 
b. 0.7 d. None of these 

 
29. What is 3/10 + 2/5  = 

a. 7/10 c. 5/10 
b. 6/10 d. 6/5 

 
30. What is 72 ÷ 6 = 

a. 18 c. 12 
b. 9 d. None of these 

 
31. What is 84 ÷ 12 = 

a. 6 c. 8 
b. 7 d. None of these 

 
32. What is 98 ÷ 14 = 

a. 8 c. 9 
b. 7 d. None of these 

 
33. What is 108 ÷ 6 = 

a. 18 c. 28 
b. 48 d. None of these 

 
34. What is 152 ÷ 19 = 

a. 18 c. 8 
b. 7 d. None of these 

 
35. What is 119 ÷ 17 = 

a. 6 c. 8 
b. 7 d. None of these 

 
36. What is 10 x (7 + 6) = 

a. 76 c. 130 
b. 67 d. None of these 

37. What is 9 x (5 + 3 – 2) = 
a. 54 c. 46 
b. 70 d. None of these 

 
38. What is 6 + (3 x 6) – 5 = 

a. 18 c. 49 
b. 19 d. None of these 

 
39. Complete series 1, 3 , 6, 10, 15, 21, ___ , ___ 

a. 26, 32 c. 28, 36 
b. 25, 30 d. 25, 31 

 
40. Complete series 5, 10, 7, 12, 9, 14, ___ , ___ 

a. 10, 15 c. 20, 15 
b. 19, 20 d. 11, 16 

 
41. Add 87 to 98 and subtract 50 from it 

a. 153 c. 155 
b. 135 d. None of these 

 
42. Add 133 to 267 and subtract 199 from it 

a. 199 c. 102 
b. 201 d. None of these 

 
43. What is 85 + 2 + 4 - 1 – 6 = 

a. 48 c. 84 
b. 64 d. None of these 

 
44. What is 6 – 4 + 5 + 2 + 3 – 3 + 3 = 

a. 12 c. 21 
b. 22 d. None of these 

  
45. What is 9 – 6 + 2 – 3 + 5 + 8 – 1 = 

a. 13 c. 14 
b. 15 d. None of these 

 
46. What is 5 + 6 – 1 – 9 + 2 + 8 + 7 – 6 + 9 + 1 = 

a. 32 c. 22 
b. 23 d. None of these 

 
47. What is 6 + 5 – 9 + 2 + 8 + 6 + 4 – 7 + 4 + 3 = 

a. 22 c. 32 
b. 20 d. None of these 

 
48. What is 22 + 36 – 52 + 81 = 

a. 92 c. 64 
b. 87 d. None of these 

 
49. What is 64 – 31 -22 + 90 = 

a. 91 c. 100 
b. 101 d. None of these 

 
50. What is 87 – 31 + 4 + 70 = 

a. 103 c. 130 
b. 210 d. None of these 
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51. What is 0.8 x 4 = 
a. 0.32 c. 3.2 
b. 32 d. None of these 

 
52. What is 0.3  x 0.6 = 

a.  1.8 c. 18 
c.    .18 d. None of these 
 

53.  What is 1.75 x 10 = 
a. 17.5 c. 175 
b. .175 d. None of these 

 
54.  What is 3.3 x 20 = 

a. 6.60 c. 0.66 
b. 66 d. None of these 

 
55. What is 2.5 x 4 = 

a. 100 c. 10 
b. 1 d. None of these 

 
56. What is 0.3 + 0.6 – 0.3 = 

a. 0.6 c. 0.3 
b. 0.9 d. None of these 

 
57. What is 1.2 + 2.1 + 1 = 

a. 4.3 c. 3.5 
b. 3.4 d. None of these 

 
58. What is 28.6 x 100 = 

a. 286 c. 2860 
b. 28600 d. None of these 

 
59. A third of a number is 21. What is the number 

a. 63 c. 7 
b. 14 d. None of these 

 
60. What is total of 1.7, 0.5 and 2.1 

a. 4.2 c. 4.3 
b. 3.8 d. None of these 

 
61. Which of these numbers is not prime 

a. 29 c. 17 
b. 39 d. None of these 

 
62.  7 hundred + 3 tenths + 4 thousandths =  

a. 734 c. 4730 
b. 700.34 d. None of these 

 
63. Place Value of 4 in 349 

a. 4 c. 10 
b. 40 d. None of these 

 
64. Fill the blank 34.34 x _____ =  3434 

a. 1000 c. 100 
b. 10 d. None of these 

65. Place value of 5 in 67581 
a. 5 c. 50 
b. 500 d. None of these 

 
66. What number XXXVIII is 

a. 35 c. 38 
b. 789 d. None of these 

 
67. What number XLVII is 

a. 89 c. 67 
b. 47 d. None of these 
 

68. What number XLII is 
a. 42 c. 92 
b. 62 d. None of these 

 
69. If 12 inches = 1 feet, then 7 feet equals to 

a. 84 inches c. 48 inches 
b. 36 inches d. None of these 

 
70. 8 + 94 – 30 + 81 =  

a. 105 c. 245 
b. 153 d. None of these 

 
71. 16 + 50 – 48 – 6 = 

a. 24 c. 34 
b. 44 d. None of these 

 
72. 36 + 93 – 74 + 85 = 

a. 114 c. 410 
b. 140 d. None of these 

 
73. 81 – 17 + 74 + 96 = 

a. 324 c. 234 
b. 344 d. None of these 

 
74. 61 – 33 + 59 + 24 = 

a. 211 c. 111 
b. 101 d. None of these 

 
75. 84 – 52 + 36 – 19 = 

a. 50 c. 52 
b. 49 d. None of these 
 


